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No. of Questions/¥vaf &t W& : 150

Time /w4 : 2 Hours/9w Pull Marls /Ui : 450

Note :

1.

(140)

(1) Attempt as many questions as you can. Each qucsti:m carries 3 marks. One
mark will be deducted for each incorrect answer. Zero mark will he awarded
for each unattempted question. '
R TE W T FY @ T F | YEE TW 3 F W R | TS | I F
fifg UE 3i® W17 G | VA% ARG W W W Y A

(2) If more than ane alternative answers seem 10 be approximate to the correct
answer, choocae the closest one.

ﬂwﬁﬁmmmm%ﬁﬂmﬁ.ﬁmmmia

As per Mimamsa Philosophy, the knowledge ~of Dharma is only possible
through )

(1) Perception {2) Scripture {3) Inference (4) Analogy

Wi A ¥ omuw, of W oyE wE Y dam
) e kgn @ WETW @ FEHER @) IEIW

-{'P. T.0.)
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10. 'Bodhisatva" strives for the liberation of _
(1) own self (2) all monks - (3] all creatures (4) all human beings

‘Wit gfe ¥ e v %= A
(1) 33 fag (2 = fingsii & R
(3) witmm ¥ firg (4) 7= W & fory

11. Who said that punishment is a reward of the criminal?
(1) Aristotle (2) Bentham  [3) Hegel (4) Kant
fome wg o {5 vy ot W @ greEn 7
(1) I (2) #=m @) d= @

12. The theory of justice as fairness’ is namely related to

(1] Rowls {2) Russell (3) Ryle (4) Ross
oy "m” W fagea feed M @ waftw 10
() tiew 2 (3) wha (4 dm

13.  Which of the following upholds that world is a totality of facts?

(1) Wittgenstein (2] Quine {3) Karnap (4} Russell
aafafas § 3 P 77 wher e ¢ R g T & worm #?

(1) fetwemm (2) A (3) FHY [4) W

(140) 4



14.

16.

. (3] Dvaita Vedanta

Which one of the following is counted as Pradhan Malila' by Shankara?
(1] Mimamsa = (2) Samkhya '

_ (4) Nyaya
frefRir & @ S-a1 6 ¥R ¥ 20 oW wg’ ¥ w9 § o fen T 7
mmnim" (2) wieA @B maT=w (4) =

The meaning of ‘Moksa’ according to Mimamsa Philosophy is

{1y total annihilation of sufferings  (2) God realization

(3) attainment of heaven - {4) attainment of pleasure .
hwim @ & wgER e’ w1 e R

(1) g w1 veEiAw I (2) FEm-mgTr

(3) = & o ) el

The Second Arya Satya of Buddhism is known as

14P/236/5

(1) Dharma-chakra [2) Dvadasha-nidana
(3] Dukha-nirodha (4) Anatmavada
&3 w R ariwe v o
R - A R (@) , ST,

17.

' ‘Which of the following is inadequate pair?

(1) l Svadharma—Varmadharma

- {2} Arhat—Buddhism

{3} Kevali—One who has only partial knowledge of a thing

] Si_:i_ﬁt_ap_mjna—Samatva Yogi

140)

- {.T.0)
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18,

19.

20,

(140}

Ffefer # @ f9-w1 sgwge g 2

(1) wf—sofad

(2) g zf -

(3) Fah—ae =is R el o W am wifte 79 @
(4) Fermwy— b

Which one of the following is motivating force aecording to psychological hedonism?

(1) Intuition (2) Reaaon (3) Desires (4) Idea of good
W geaw & sgen Refifn § 3 @9 e whs b7

(1} orayix 2 78 (3) vourd (4) 9 = BEm

Which one of the following i3 incorrect pair?

(1) Mill—Utilitarianism (2} Kant—Rationatism

{3) Bentham—Hedonism (4) Butler—Intuitionalism
Prefafea & & W-wr 7m of o 47 ;

(1) Pra—gwifimmm (2) Ty gwmmrR

(3) Ten—gEEar (4) TER—FANYER

According to Moore, Good is

(1) end in itself (2} indefinable (3) rational (4) to satisfy desire
T % FER v , '
(1) =4 % g (2) 3mfomg (3) = {4) ¥ A wgh
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Butler accepts

{1) emotivism @ naturalism (3) intuitionism ° (4) prescriptivism
wer &R w7 R

() BmE (2) veREmE (@) FFiEr (4] wameiaTE
Which theary of punishment considers crime as a mental disease?

{1} Deterrent - - (2] Retributive
{3} Dharmashastra . (4 Reformative
mwﬂw—mmmﬁﬁ%ﬂ#mﬁwﬂmm%?

o Frantand) (@) sl (3) wiye {4) gurETd

(140)

Which one is not appropriate for Charvaka? -
(1) Vyapti cannot be estabiished
(2) World is composed of Chaturmahabhuta

" [3) There is no Papa-punya
 (4) Kama supported by Dharma is the goal of life

aiE & FgER PA-w v, T T R
(1) =i ) =g T Tl (2) v wRwEngt & 91 8

(3) -y A R : (4) wwifim = aﬁaz_' w1 o R _

Which one of the following believes that reality is both eternal and non-eternal?
(1) Sautrantika  [2) Yogachara  (3) Jainism {4) Advaita Vedanta

7 | | F.1.0)
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26.

27.

(140)

fimifea & & ¥ a8 v R fe oq fenfie 37
(1) dis (2 #m:m (3) ¥ =zlq 4) wie I

Select the incarrect pair from the following :

{1} Nagarjuna—Satyadvaya (2] Vasubandhu—Vijnaptimatrata
(3) Lankavatara—Tathagatagarbha 4) éauu-mﬁka—ﬁsaﬁs]uim Dharma
Prafefin & 2 sme qH % 99 m -

(1) Tme{3—wergy (2) Fgery—rafemmm

(3) AR~ (4) HfE—swivga wi

God according to Yoga is "
(1) highest ohject of meditation (2) efficient and material cause
{3) highest goal of Yoga (4) only an idea

AT F AN v @

(1) om % %y fawy (2) faferomer s

(3) A F A= e ) & foam W

The meaning of 'Bhu};adaraann' in Nyaya is

(1} Sell-rcaklization (2] Bhumi Darsana

(3] Repeated ohservation | (4) Alaukika Prat}aksa

<M R & ‘vEreest @ oand 2

(1) Sm-mERER  (2) gf zE @) F T e (4) bl T
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Aecording'to Vaishesika, the non-existence of a thing in another thing’is known as

" 1) Anyonyabhava (2) Atyantsbhava (3) Pragabhava (4] Pradhvansabhava
| AifRe ¥ sEER ' W w q@h g ¥ e wwer d

(1) FFE (2) SFEawE (3) W™= (4) TeETE

" The meaning of Mithya in Advaita Vedanta is

(1} neither real nor unreal (2) hathrealandur;real
(3). unres.lhkebarren woman’s son {4) real

Imiqiaiﬁmmﬂiﬁ--

(1) T P (2 wq she s 2
-3 v B it Y @) |
" Select the incorrect pair from the following :
m Dencm:tm-—Dunhsm 2) sPinma—-rheim
% Leibnite—Pluraliem (4} Hume—Empiricism
Biafafn 4 A e TW QAT :
(1) ¥t (2) feF—{wER

| (3) SRR (4) WH—AFVEAT

31.

(140

According to Hume, our belief in God rests on
{1} our concern for happiness and terror of death
{2) experience -

(3) reasoning

(4) pure love for truth

9 w2 - (PT.O)
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38, How many propositions are there in Pararthanuman according to Na_i}rayikas?

(1} Two {2) Three (3) Four -. {4) Five
Yo & sepm wafgER § R aEme @ &7
ma (2) # (3) = (4) W=

39. How many valid moods are there of categorical syllogisam?

(1} Eight (2} Ten {3} Twelve (4) Nineteen -
e e 6 W@ el A 17 _
(1) wra 2 @ : (3) =mm (4) =

40. ‘Barbara’ helongs to which figure? _
(1) First (2) Second (3] Third (4) Fourth

‘W’ fE sEm ) o A7
(1) 7w {2) finfa [3) T (4) =g

41. Aristotle’s Dictum de omni et nullo’ applies to which figure?

(1) First (2) Second (3) Third {9 Fourth
mﬁﬁm'ﬁuwﬂ%waﬁ’ﬁmmﬂmﬁmh
{1) wem (2) R (3) T - [4) wge

42. What is the reasoning called when universal conclusion is drawn from particu
proposition?
{1) Deduction  (2) Induction (3] Dilemma ~ [4) Figure

(140) 12
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fady ¥ amre P el ¥ 3 7 w1 oy B2
(1) Ferm {2) =PPA {3) T (4] TR

What will you say about ‘Formal Logic'?

~ (1) Science of speech forms S ) Science qug];ic:jr
(3) Science of law TR Aesthetlcs-
——— T L E L o
_¢1|mmmﬂmm _ o (2) i W oW
(3w W T @) e

(140)

(1) True 2) False ) Ambigious - (A None.of these
¥z (R @ ae § :

.(11 | (2 v (3) Wi @y v e
Who has dﬁm Ws Revolution in Philosophy?

(1 Kant (2 Locke @) Hume  [4) Berkeley
s § et whefmn HR BT

(1) = @ @ W (4 T

Who recanciled rationalism with empiricism?

(1) Locke (2) Kant (3) Hume (4) Spinoza

ey wfgae i sgwea w1 T Rean? |
(1) e @we @)W - (@ fedw

13 | - (R.T.0.
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47. “Knowledge is not innate, it is acquired by experience.” Whose opinion is this?
(1) Utilitarianism (2) Empiricism  {3) Rationalsm (4) Hedonism
“YR R B, W #Pa F b R s 417w f
(1) Iwaifirmre {2) VAR (3 wfgam (4] HE=ER

48. By which method did Descartes start his philosophical thinking?

{1} Methodic doubt (2) Belief

{3) Criticiam (4] Comparison

Yo ¥ few TR ¥ A i fem W T R

(1) wwug §2Ax (2) R ' (3) witam (4) e

49. Whose statement is “This world is originated with only four elements”?

{1} Charvaka (2} Jain ~ (3) Nyaya (4; Vaisheshika
ezt s 8, W 9 B e daw R A A w47
(1) =maf= 2) ¥ 3 = (4) Fofew

80. According to whom, *We accept Five Skandhas as soul (self)* 2 -

(1) Jain (2) Buddha (3) Nyaya {4) Mimamsa
Fou% agam, “w T = W oaen e Asy 8y

(1 ¥ @ 1 (@) = {4) wmien

(140) 14



51.

52.

(140)
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Whose Phi!ﬁophy is “Yogah Karmasu KauM’?
(1] Samkhya (2} Yoga (3) Vedanta . [4) Gita
o, sty e e i 47
) W gy dm @ R @)
How many kinds of Karmas are shown in Vaisheshika Philosophy?
(1) Two | (2) Three (3) Four - (4) Five
Mmool & e v R Y
QA (2) 9 @ | (4) =
Who propounded the theory of ‘four-fold causation’?
(1) Plato {2) Socrates {3) Aristotle (4} Descartes -
TgerEr’ w Rigr R shaft R 27
() = @ TR @) 4)
Who said, “Esse est percipi”? )
(1) Berkeley (2) Locke © {3) Kant (4] Hume
femy wm B, ‘R @ gl AV? '
(1) =& 2 &% (3) R - (4)
Who maintains that *We accept stream of ideas as sﬁul';i'

{1} Aristotle (2) Socrates (3) Hume - (4) Locke

15 _ (P.T.0)
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86.

7.

(140)

‘“w frard © am W N sran am A=A A femm v R7
(1) & (2) gwm (3) (4) ==

Who propagated ‘categories of understanding'?

(1) Kant | (2) Berkeley (3) Descartes (4} Hume
‘gig-fawt ® yftorga’ frmd fam?
(1) wme (2) w&R (3) ¥ewed 4 wm

Whose theory ia Vishistadvaita?

(1) Ramanisja {2) Shankara (3) Buddha (4] Jain
it = fagrn e 7
L) e @ = I T 4 &

Which one of tbc following pairs is correct?

(1} Shankdra—Vishistadvaita (2) Buddha—Vibhajyavada
(3) Jain—Prakriti-Purush W Rig'.rc'da—l—Music
e # @ Wm wh g 47

(I) m«—-ﬁﬁm&a (2) Te—Poemme . (3) W —wFfr-gor -(4] wr2—ita

Whose theary is ' Vivartavada’?

(1) Shankara (2) Ramanuja (3) Sankhya (4) Jain
o’ w1 R fm 47 ’ |
(1) ¥ {2) TR (3) wiEx 4 ¥

16
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Whose statement is *Act as a member of a kingdom of ends”?

(1) Socrates (2) Plato (3) Kant (4) St. Aquinas

o TR Y, w wed & AT % 0w G B i w7

(1) gewm 2) = (3) wwE (4) ®a o

‘Rye for eye and a tooth for tooth’ is accepted by which theory of punishment?

| (1} Preventive {2) Retnhutwe {3} Reformative -(4) None of these

63

‘e % R st v o ¥ R ' R Ae-m o w fagr e &7
(1} P {2) iR ) FERER - (4) TR A

Who is the propounder of doctrine of Seven-fold Nayas?

(1) Shankara (2) Buddba (3) Vaishesika  (4) Jain
wwiht T ¥ frg w1 SREE @R 27
(), W 2 T L (3) R {4 ¥

63.

64.

(140) -

Who wrote the book Critigue of Pure Reason ?

(1) Aristode _ (2) Kant (3) Plato _ {4) Descartes
Critique qf'-PurB Reason =& T fomeht? _ '
(1) I (2) *m (3) = (4) ¥

Which one of the following is not related to the origin of religion?
(1] Animism (2} Spiritism (3] Manaism (4) Magicism

17 ~ {RT0)
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T S L
(1) e (2) wmRwE (3) wFTER G

68. Which one of the following is the example of religion without God?

(1] Christianity (2} Buddhism (3] Islam (4} Hinduiam
fafafae § @ #-a1 @ TR of %1 T=em {2

(1) Yemfed 2y g (3) e (4) fogemd

66. Whose statement is “Mind makes the nﬁmtﬂ’?
(1) Lacke (23) Berkeley *  {3) Hume (4) Kant

P Wt ¥, “gfz YR W i s 477
(1) wts () whd (3) @ (4) e -

67. Sankhya admits

(1) Parinami Nityata . (2} Vivartavada

(3] Satkarnvada _ {4) None of these

wie v wm i o

(1) wferll fremn 2) Fretaw (3) TR 4) i ¥ =i off

68. Prasthantrayee is related to
{l1) Vedanta Philosophy (2) Jain Philosophy
{3) Nyaya Philosophy {4) Sankhya Philesophy

(140) | 18



14P/236/5
el gt b o
(1) ¥ @l A 2) T & (3}=|wmh%' (4 aveq A @

69. Nyaya _mﬁlbmphy-admim |
(1) Anyathakhyativada (2] Anirvachaniyakhyativada

{3) S-tlsha'ntwadn 8 (4) Akhyativade
w wi T | |
(1) sFwrEfTE = @) eRdeenREr W

(3) Twnfar (4) somREr =

70. ‘Astikaya’ is related to

(1) Jain Philosophy : {2) Charvaka Philosophy
(3) Nyaya Philosophy ; ° (4 None of these
‘wiever - i {

) AR () et @A @ (3) =@ A A 4) v & = T8

71. Which one of the following systems of Indian Philosophy doesn't accept the existence of

God? .

(1) Nyaya  (2) Yoga @3) Vedanta (4) Mimamsa
ﬁmﬁlmmahumtﬁﬁﬂqummiﬁttaﬁﬁﬂwmwt?
T I - . @ (4) sfwrar

i (140) ' 19 _ (P.TO)
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72.

73,

T4,

75.

(140

As per Vaishesika the world is created out of substances.
(1) five : (2) seven (3) nine {4) sixteen
o RS e— R T

(1) = () ®w @ * (4) W

Which one of the following schools of Buddhism is idealist?

(1) Sautrantika (2) Vaibhasika {3) Yogachara (4] Madhyamika
frafafe § 3 dg o ¥ dv-w seERm o 7

(1) dxfaw (2) vt (3) QmMmER (4) weafirm

The doctrine of Anekantavada is related to

(1) Jainism (2) Buddhism
(3) Nyaya Ph.ﬂnsnphy (4) Vedania Philosophy
e w fagr wafAe 3

{1) 3 7w A {2) g @i A B) "R WA A (4} A= AR

Shankara admits

(1) non-dualism (2] dualism
(3) monism _ (4) qualified monism
o a2 §

(1} g = (2) twam = (3) m w (4] fafirldmr 5

20
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Vedantasara is written by

- {1) Shankara |2] Vachaspati (3) Sgdananda = (4) Madhusudan
. Nepaare fown T 2 ' |
{1) oW (2) = g (3) TR TA (4) YT TW

As per Advaita Vedanta Philosophy, the illusory snake is

(1) real | (@ unreal
iy ot vewl. and tmroal [4) Neither real not unreal
ahu dgrr & g s w4 -
:1}51@&55 ; (2) FawRE
) ol o R A (4) 7 0w sk 3 @ omahe

(140)

Indian Philogophy regards the world as fult of
{1} sorrow . (2) pleasure - (3] souls (4) devils

arcft Tefs v @ e e aRqd &
(1) @& 2 7= ¥ (3) @Rt @ (4) ¥l &

As per Upanishad, the individual self is encased in ~

(1} three sheaths (2) five sheaths  {3) seven sheaths (4} nine sheats

Fufiqdt ¥ rgER sfaen g ¥
(1) @7 =i A (2) W9 (3) @@ wi & (4) N AR

21 | (P.T.0)
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80. As per Jain Philosophy, time’ is |
(1) Astikaya (2) Anstikaya (3] Unreal (4) None of these

¥ o & wgER W R | |
(1) wRwa (2) SR @) sEwafw @) i e

81. Charvakas were divided into

(1} Hinayana and Mahayana * (2) Svetamber and Digamber
(3 Orthodox and Heterodox (4) Dhurta and Sushikshit
wts Enal (i) f & |

(1) #m o e & (2) v s famaw &

(@) nfev sl i 3 (4) g v ekt #

B83. ‘'Sarvastivada’ is a sect of

(1] Jainism (2] Buddhism (3) Brahmanism (4} Lakayat
‘i W wgm

(1) ¥ = (2) #gF = 13) W (4) wremm

83. As per Kathavasthu', how many sects of Buddhism was divided on religious ground?

(1) Six {2) Twelve (3) Eighteen  (4) Twenty-two
ey % sgen dewd wifs s w e frewdt 0 sk oy
(s (2 " S (3) e (4) w§w

(L40) - 22
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As per Swami Vivekananda, Maya is

(1) a theory

(3) a statement of facts about the universe

(3) mere appearance

(4) None of these

vt Pl & seR, W i ,

{1} o fgr (2) fam fms @ TeqeR FA

{3) wer wfiomm ' ' mni%aﬁimﬁ'
m.!ﬁmiu View of Life was written by
© {1) Bhagawan Das ' 12) Swami Vivekananda
{3) Radhaknahnan . (4) Dayananda
fg -z & vaw A |
1) wmR 7 (@) wh RdwER (@) TOEWR, (4) RS
Supermind is related to
" (1) Sri Aurcbindo (2] Rabindranath Tagore
{3 K. C. Bhattacharya (4) S. Radbakrishnan
SR W ey § | _
) o sRA 2) g A
@) *?ﬂﬂ!ﬂﬂf* | @) o qUFH &
23 . P.T.0)

(140)
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a87.

{140)

Hind Swargj was written by
(1) V. D. Savarkar

(3] M. K. Gandhi

o @t fadh wit <t

(1} dto e AETER T

(3) o &e et g

Who says, “Ideas are real things™?

(1) Flato (2) Aristotle
A w8, v gty GOt §07
(1) =@ (2) s

‘Knowledge’ according to Plato is
(1) -speculation

(3) opinion

A ¥ AR T 2

{1) v (2} W

As per Aristotle, matter and form are

(1) separable (2) inseparable
WH & wgEn yn IR wen §
(1) goawfy C o (2) FguwRdy

(2)
(4)

(2)
()

{3

(3)

(2}
4

(3l

(3)

(3)

M. 5. Golvalkar
M. M. Malviya

THo THo Tﬁm [
e tHe WITHEN 2T

Protagoras - (41 Zeno
e (4) I
perception

taﬁt:;nai insight

m | | (4) Mz sty
identical [4) independent
I IO (4] =Ed
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94.
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Which one of thel following causes is not accepted by Aristotle?
{1} Material (2) Formal (3) Final (4) Subsidiary

ey 3 Pirafer % fm w W W A A7
(1) TRW (@) snahe (3] =S | 4) TEEE

As per Aristptle, formal cause includes

(1} only efficient cause T

| (3 onlr-mnteﬂal cause - (4) Both efficient and final -
o, & AR ST e s @ - |

) e P @) v e (i) v

| "q:; [m— (4 R st wer w2

Descartea Philosophy can be expreased as

(1) dusliam @ monism (3} idealism (4) empiricism
. Al oA W = e I wwm R '
tli’tﬂlﬂwﬂ' - () WawEd w9 |

3 v v A 14)Wmﬁ-

Who, among the following propounded BLIK' Theory of Philosophy of Religion?

m Wit_:tgcﬁuhein © {2) _Ayer (3) Ryle {4) Hare
Erfrfaa & ¥ femy wizedy o ‘R Rigm ot fen?
(1) v (2) W @) T . (4) ¥w

25 _ (P.T.0) .
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95. As per Deacartes Philosophy’, matter and mind are

(1] indépendent substance (2) dependent substance
(3] phenomenal entitles " (4) neutral entitics

Yo 2’ ¥ sEEn 9y 3R Y f

{1) v g {2) oim 7R (3) WETRE ®AR (4] ORVE WO

96. Discourse on Method was written by

{1) Hegel " {2) Hume (3) Spinoza (4) Descartes
Discourse on Method foelt mft o

{1) ¥ g (2) W§Tm (3) ferrn gr 4) ¥z

97. Who admiits that God is u_nmaved mover?
(1) D-euqrtes - (2) Flint (3] Spinocza " (4) Aristotle
7 avan & R Evae sty vadw A7
(1) = -2 = (3) f&em {4) oy

98. Who says, "Every determination is a negation®?

{1} Descartes - (2) -Spinoza {(3) Leibnitz (4) Hegel
1 T R, “TRw fmfor P 477

() " (2 v (@) amaRE . (@) @

(140) ' : 26
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101,

'103.
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'Gadaaaﬁrnteﬂ‘ideptcauu’isaﬂmittmuy

" (1) St. Augustine

(3} Spincza

{2) St Thomas Agquinas
(4) Berkeley

w'mtmﬂm’ﬂWM!

_[11-1ium?q
(3 @t}

(1)_St. Augustine

Cogito Ergo Sum’ is related to
(1) Leibnitz (2) Spinoza
% e s & § v d

(1) e @ (2) fern |

(1) Meditations

m FERTH C @ @ anE

(140}

(2) Le Monade
-Wiﬂﬁ-ﬂwﬁmmmw‘i?

(2) @ wivg e 3
(4) W& 3 .'

(2) St. Thomas Aquinas

(4} St. Francis

(4) w0 wifew

(3) ID;:scm-teu (4) Berkeley
(@) ¥ @ (4) w3 R

(3), Ethics (4) Republic
(3] v ) fo
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108.

104.

105.

106.

(140}

Whao is called 'God intoxicated’ ?

(1) Berkeley (2) Descartes @) locke " (4) Spineza
PR frrmiere’ W e 47 |

(1) &3 (2) e (3 =& (4) et
Hegel mays that God is like lion's den.

1) Kants (2) Augustines  (3) Anselm’s (4) Spinoza's
e A —— e ) e T

(1} #m2 % (2) SRR, ® (3) ™ (4) &= =

Pre-eatablished harmony is related to
(1) matter and mind (2) monads

-~ [3) matter and form , (4) noumenon and phenomenon

W-wia e et &
(1) % 3t ¥ B (@) P A

(3) ¥ ofx s @ (4) +g @ # 7 W

Which one of the following is not true about Spinaza’a Philosaphy?

(1) Paralletism (2) Monism (3] Pantheism [4) Interactionism
Frafafn & e ol & e ¥ v v o 4

{1) SAFRRaR {2) THarERR 3) W (4) sFafdaram

28
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.l_ﬂl."
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“Natura Naturata’ is related to

{1} Locke ' {2) Hobbes (3} Spinoza (4] Hegel -
Y0 Igom’ = Ty 1 | |
m) wEd - @ wmd @ feEen R @) @re A

'I.a;w_ of continuity” behnga. to
(1) menads {2) atoms . (3) souls (4) ideas
‘sfifiew = Pam’ Tl

(1) Pegs @ }mﬁﬂmﬁﬂ m)mn@ﬂ‘ (@) vt 3

Which one of the following is not true about monads?.
(1) Windowless {2) Miniature of the world

" (3) Self-sufficient (4) Interconnected with each other

110.

(140}

frsfrfen  Reegell & Wt 4 wm el 47
(1) eEEEA | (2) vm = aghm
(3) wfft | (4) TER WOEEG

Who refutes innate ideas?

{1} Plato {2} Aristotle ~ (3) Spinoza H]hﬁw
WO AT W WoEA A W A '
T I ) e @ e (e s
29 | {P.T.0.)
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111, Who considers mind as ‘Tabula Rasa’?

(1) Locke {2) Descartes (3) Kant (4) Spinoza
o w e offw & oo’ wfwr w37 '

(1) @t® (2) e (3) w2 (4) TR

112. Locke’s statement “Something [ know not what® is related to

(1) primary qualities - | (2 secondary qualities
(3) substance (4) simple ideas
whe W ARIZ WE P By T, T8 T v o waiRm A

() s i & (2) Refww il & (3) 7= & " {4) W@ Al ¥

113, Whiéhmqfthcfal]amngumotbeemﬂdmdumum?

(1) Axioms of Geometry (2) Law of identity
(3) Law of contradiction {4} Knowledge of a flower
AR § o ow W S T & W # o e e w7

(1) wnfif € wwifefyt | (2] wEm W f

(3) =mm W= frm @) =W IR

114. Who r&utcﬂ the eu:iatcnccld abstract idea?

(1) Locke: (2) Plato _ {3) Spinoza (4) Berkeley
‘s well W RoEA W wm d7
(1] =t (2 =2 (3) @rEmn 4 "R

[140) . 3¢
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136.

117,

{140)

14P/236/5

- Which one of the following books was written by David Hume?

{1} Essays on Human Understanding -

{2) Principles of Human Knowledge

(3) Philosophy of Vision

() Baquiry Concerning Human Understanding
S # 3 ash g VBT @@ T el ) 7

() R S  {2) R afs e e
_(3;maamﬂw - |-|4]_F¢m?ﬂﬂ1wwnéﬁ'=r

%aw of causation’ is refuted by |

(1) Locke (2) Berkeley (3) Hume {4) Kant
‘wrom & Praw’ w1 W B b ’

(1} @tw 3 ‘@ WA @G @3 (4) Fe ¥

Which one of the following books was not written by Kant?

{1) Critique of Pure Reason {2) Critique of Judgement

@) Critique of Practical Reason ~ (4) A Treatise on Civil Government
faftn @ WA TR e gE T Rt R R

(1) BR% s ak & - @ fRF aiE swive

(3] Blw wiv MRww G (4) q;'?zmahﬁﬁawaﬁw

-31 ' (P.T.0.)
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118. Who awoke Kant from dogmatic slumber?

(1) Hume (2) Berkeley = (3) Locke 14) Spinoza
e W infi ¥ feed e

H @A (2) what 3 (3) =% & (4) ferren A

118, Who says, “Duty for duty's sake"?

(1) Mill (2) Green {3) Kant (4) Hegel
¥ wam §, "wdw wd= ¥ fag’'? |
(1) P (2 ¥ (3) ®m2 (4) e

130. Utilitatianism’ is related to

(1) J. 8. Mil (2 T.H. Green  (3) Hegel (4) Kant
‘s’ v & '
(1) Fe e i@ @ (2 Hoqwedm A (3 Mm@ .[4]'@31’;

131. Which postulate of morality is not given by Kant?
(1) Preedam of Will (2) Immortality of Soul
(3] Existence of God (4) Rebirth
STV S T g Sy Sy g S ————
(1) 95w (2) omen @ o (3) RR oW SR (4] T

1323. The statement “Man is the measure of all things" belongs to
(1} Protagoras {2) Socrates (3) Zeno (4} Thales

(140) . 30



14P/236/5

o e v TRl w1 aees A e _
{1} WrewirE @ (2) gwm & (3) B _(4)_;2mﬁ'aﬁ

' 138. ‘Route of Golden mean’ belongs to

{1) .Hegel 2 A.n'-utntle (3) ﬁnax:@maﬁdcr (4] Anaxagoras
- ‘afttn wem i W R wafEo d o _
(1) e A (2) s # (3) wredi= A (4) minE 3

- 124, Aa per Plato, which one of the following virtues is more significant?

(1) Courage (2} Temperance (3} Justice (4) Wisdom
WA % omER, P § Av-m agq s wpep 47
(1) (2) "W (3) =% (4 &=

128. Which one of the following philosophers admits qualitative difference in pleasure?

{1) SBtoic (2) Bentham (3) Milt {4 Kaiit
Aot # & Wra-m aifes gEl § e U2 e wa ke

(1) = (2) #=m @ f@ (4) ¥R

" 126. ‘Hi.gﬁest. good of highest numbers’ is related to

(1} perfectionism (2} hedonism (3) egoism (4] utilitarianism
‘sfirran TR &1 wkem QW Tt d
(1) praEr & 2) g&EI% & _[3]'#miam # (4) IeNPEET |

(140} e 33 ~ (PTO)



14P/236/5

127.

128.

129.

130.

(140)

(1} J. E. Moare {2) Bertrand Russell

(3) F. H. Bradley " |4) Plate
Principia Ethica foret wé
(1) R fo g 2T @) W= W W

(3) WEe THe ¥ T ' . (4) @& g

tategonl:al imperative’ belongs to

(1} Bentham (@) Mill (3} Moore (4) Kant
‘Prly wn g A

(1) ¥=m & (2) firmr & (3) |WH (4) wwe @

Which one of the following statements is related to Bradley?

(1) Duty for duty’s sake (2] Be a person

(3) Die to live (4) My station and its duties
iR 4 2 Wom e ded @ w47

(1) = % fo = @ ommw

(3) % ¥ R = (4) ¥ s ot 6% =

Tu kannst, denn du sollst’ is related to

(1) Ayer (2) Hare (3) Bradley (4) Kant



131.

133.

134..

(140)

‘00 AR R o g e R = T
{1) w# (2} ¥ A (3) ¥z A

A. J. Ayer advocates

(1) emotivism (2) perfectionism (3) determinism
e Ao mﬁmﬂmmﬁ#? '

(1) & @ whmm (@) FrefaEr

Who gives emphasis on ‘Good Will'?

(1) Kant {2) Hegel (3) Green
ou T W A SR A R

(1) e () (3 W

‘Which one of the following is not a Purushartha?
{1} Dharma (?) Artha (3) Bhakti

fafrim & 3 A et # whefte f fmm 47
Mo (2 - @ W

Which one of the following is not included into Trivarga?

(1) Dharma {2) Artha " {3) Karma

P 3 & w B § o ol 47

(1) (2) o @) w
35

14P/236/5

(4] ¥R A

(4) prescriptivism

(4) wET

(4) Bradley

(4) =R

(4 Moksha

(4) wts

{4) Moksgha

@) Ay

(P.T.0.}
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138,

136.

137.

138,

(140}

'Ss.hitapragya’ is a person who

(1) performs ritualistic acts . (2) does not touch the fire
(3) eradicates all desires (4) None of these

‘o’ 3o w8 & W | R

(1) wreits & w1 arER W (2) @ifr wr vl Tl
(a]wtui%mm’lwmmi’m-t' (4) wit A ad Tl |

Which one of the t'n!]nwihg is not a kind of Hetu accroding to Buddhist Logicians?
{l] Svabhava Hetu {2) Karya Hetu

(3] Upalabdhi Hetu | (4] Anuplabdhi Hetu

Atz wfEH 5 ogen, ARl ¥ - o g @ o @ 47

(1) w‘tu (2) =rf ¥y (3) Ivwfeyr ¥ '{41 Uy iy

Which one of the following does not accept verbal testimony as a valid means of
knowledge? '

{1} Nyaya (2) Vaishesika {3} Sankhya (4) Mimamsa
mﬁﬂmmmﬁhmwﬁ!mﬂﬂmt?
(1) g 2) fm (3) wie {4) i

Which one of the following is correct for the ‘Good Will’ of Kant?
{1} Psychological Will | (2) Divine Will
(3] Rational Will (4) Spiritual Will

36
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Pt 3 3 - e A e’ ¥ R @ A7

(1) AR TR (2) YER e {3y few == (4) menfeE Toe

*If you run after pleasure, you fail to get it.” The above mmunnedpamdoxlshmwn as

(1) logical paradox {2) rational paradox

‘@) paradox of Hedonism . {4 spiritual paradox

o ogE k03w D a9 A vm WA T omem @ BY € T R
wwemm & o

(1) i RV (2) Wigw Redran

@) W R (4) snemfars v

140

141,

(140)

Pratitya Samutpada is a themf of

(1) only past - (2) only future

(3) only present - (4) past, present and future
sl T g b '_ >

(1) %@ s = (2) ¥aw WS

3] ¥ww T w | | (4) afia, =M s =@

Buddha performs 'Mahakaruna’ by which one of the following body? |

{1} Dharmakaya (2} Nirmanakaya
(3] Sva Sambhogakaya * (4] Para Sambhogakaya
aeifefen R R UF W ¥ 20 92 ‘ﬁm'ialﬁwmﬁéi?
() e (2 Pl (3) W@ W (4) T A
37 . 3 (P.T.0)
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142,

143.

144,

145,

(140)

Which one of the following schools of Buddhism.is the representative of critical
realism? - _

(1) Vaibhasika | (2) Sautrantika  (3) Svatantrika  (4) Vatsiputriya
miffm & ¥ S-m w W it e whaes TRER w ke o e
(1) A (2) Hrfe- (3) wawifiw {4) Ty

The fallaqy of infinite regresa is applicable to which of the following?

(1) Parataha Pramanya - (2) Anuvyavasaya

(3) Parataha Prakasha . (4) Al the three

witfftes § A sren A Bew w v fRn T wwar A7

(1) v S '|z)a=|3mm" (3) T TEE . (4) 3T adt Ak

‘Apprehenasion of unapprehended’ has not been included in the definition of Prama by
which of the following?

(I} Bauddha (3] Mimamsa

(3] Advaita Vedanta ' (4) Nyaya

wifriem 4 @ ek grr ‘orfirrndfeery’ # wn A viomn § wfRe T fen o 37
(1) g (2) wie @) =ka iz (4} =m

The differance between creator God and created World is not applicable to which of the
following? _ A \ '

(1} Descartes (2} Spinoza (3) Leibnitz () Berkeley

sitffan % & R W W fem o gy W W Az @ A W A7
(1) ¥ - @2 B (3) ewRe (4) wHa
a8
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- 147.

148.

(140)

14P/236/5

Who maintains non-difference between knowledge and resultant knowledge?

_'[1]' Nyaya (2) Sankhya ~° (3) Mimamsa (4] Bauddha

mmmiﬁlﬂamﬂmmﬁmt?

mm (2) Wieg 13)wh=rra| : (4}-'_rz :

- 'In the Nacre-Silver mm;:le of :lluuion. silver is cognised by which of the following as
‘per Anauthn lﬂ'.l.jl‘ah? ;

(y Hﬂﬂlﬂl perception (2] Jnanalaksana perception

(3 Suannynhlmanapermpum {4) A]lthc three

firkt-ath & wn % e A mmﬂ%mﬂﬂm“ma&lﬁmiﬂmmﬁm
L I

(1) wmaRm e A [z]lmmmit

(3] SR Y d | (4) wrires v A 2

Which one of the following ia not correct acqard.i.ng to Nyaya Philosophy?

(1) Pramana Sampiavavada (2) Indriya Aprapyakaritvavada
(3) Partaha Pramanyavada (4) ¥iiaﬁtavada
miRiRm # ¥ d-wm w @i * egeR o W At
(1) T (2) =T ST
' 18) T S ' (4) T
39 o (P.T.0]
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149,

150.

‘Symbol 'V stands for

() all (2) &t least one  {3) Baoth (4) Nome of these

mhm'ﬁ’mi‘mit
(1 v ¥ fa - (2) ¥--¥ W F g
(31 &t ¥ R (4) ¥ & = Adl

‘If there is Sun' is represented by p and ‘there is Light’ is represented by g, then ‘If
there is Sun there is Light’ can be represented as

(1} (p-ql @ (pvg) - @) (pogq) {4) (g> p)

o g4 ¥ # p A wEfife few am mw vem X R g @ weRfe e o, b aﬁ!{ﬁt?h;
werwr ¥ ® el fRn s

O (p-g¥@  [2) (pvg) W [3) (p>q) T 4 gop) T

LE &

40 . D/4(140)—300
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1.

10.

11.

13.
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14,
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